
    2 زبان انگليسي

Part A: Grammar and Vocabulary 
1- I’m sure she will be really .................... see me. 

1) surprising to 2) surprised to 3) surprised 4) surprising 
 

2- If I have time, .................... 
1) I call you 2) I called you 3) I will call you 4) I calling you 
 

3- He is .................... with school. 
1) bored 2) boring 3) has bored 4) have boring 
 

4- I don’t want to play tennis any more. It .................... a lot of my time. 

1) gets 2) takes 3) makes 4) has 

 

5- These days many people don’t have enough time to .................... healthy food.  

1) purpose 2) propose 3) prepare 4) practice 

 
6- My mother bought a .................... vase. 

1) decorative 2) decoration 3) diversity 4) appreciate 
 

7- Art is what people create with .................... . 
1) humankind 2) metals 3) imaginary 4) imagination 
 

8- If I become successful, my parents will be .................... . 
1) horrified 2) mad 3) satisfied 4) unhappy 

 
9- Each society appreciates their soldiers. “Appreciate” means: 

1) identify 2) value 3) estimate 4) weave 
 

10- Each person’s beliefs reflect their personalities. “Reflect” means: 
1) show 2) customize 3) hide 4) absorb 

Part B: Cloze Test: 
Most people like art, but some do not …(11)… it. If you don’t see any special thing in a pottery, you won’t 
…(12)… its value. …(13)…, you cannot become a successful artist. If you really like art, you …(14)… two 
things: education and experience. 
 

11- 1) understand 2) prove 3) decrease 4) correct 
 

12- 1) approve 2) pressure 3) appreciate 4) add 
 

13- 1) therefore 2) because 3) suddenly 4) for example 
 

14- 1) need 2) needing 3) will be need  4) will need 

Part C: Reading and Comprehension 
Passage 1: 

People and the sources of air pollution are found in the same places. This means that cities that have large 
population have the biggest problem of dirty air. Air pollution is caused by many different things. A major 
source of air pollution is the gas fumes from cars. Statistics show that 93 percent of all auto trips are within 
cities. Another major source of dirty air is the burning of coal and oil for energy. This energy is needed to make 
electricity. Of course, much more electricity is used in the city than in the country. 
On the average, each American throws away more trash and garbage than he did the year before. Burning 
garbage contributes to air pollution. Many major industries are also responsible for the dirty air in and around 
cities. The fumes from iron, steel, chemical, and petroleum production add particles to the air. 
The effects of air pollution range from mild headaches to death. The levels of pollution found in heavy traffic 
may cause headache or loss of clear vision. Wherever coal and oil are used for fuel, fumes may kill trees and 
plants and metal to corrode. In some of the larger cities, these fumes endanger the lives of human beings by 
contributing to lung disease and causing early deaths. 
  

15- What is the main idea of the passage? 
1) The cause of air pollution is people. 
2) The cause and the effects of air pollution are both found in cities. 
3) The effects of air pollution range from headache to death. 
4) Air pollution is caused by dirty air. 

 
16- Which of these does not cause air pollution? 

1) trucks 2) burning garbage 3) burning coal and oil 4) loss of clear vision 

 
17- According to the passage ..................... . 

1) people and the sources of air pollution are in various places 
2) in the countries more energy is used than cities 
3) pollution may cause headache and affect our vision 
4) fumes can’t kill plants and trees 



Part C: Reading and Comprehension 
Passage 2: 

In 1954 the American and Soviet governments announced that they would launch artificial satellites during the 
International Geophysical Year of 1957 – 58 The Russians were first mistaken about the unmanned satellite 
Sputnik 1 in October 1957 (Sputnik is Russian for “traveling companion”). Its capsule weighing 83.6 kilograms 
went into Earth orbit carrying a radio transmitter whose “bleeps” (pips) were received on the ground. 
Sputnik 1 was followed in November 1957 by the much bigger Sputnik 2, which weighed half a ton. It carried 
the dog Laika, which became the first living creature to orbit the Earth. The first American satellite, Explorer 
1, weighed only 14 kilograms. It was launched in January 1958. 
The Russian probe Luna 1 launched in 1959 flew past the Moon at a distance of about 6000 kilometers. In the 
same year, the Russians actually hit the Moon with Luna 2, and Luna 3, flew round the Moon and sent back the 
first photographs of the far side. 
 

18-  According to the passage, Sputnik 1 ..................... . 
1) was a satellite without anyone inside it 2) weighed 83.6 kilograms 
3) carried a radio transmitter on the ground  4) was a capsule which went into Earth orbit 
 

19- The underline word “actually” is closest in meaning to ..................... . 
1) specially 2) economically 3) in fact 4) unusual 
 

20- Which sentence about Sputnik 1 is NOT true? 
1) Sputnik 1 was first launched by the Russians. 
2) Sputnik 1 was much bigger than Sputnik 2. 
3) The capsule of Sputnik 1 went into the Earth carrying a radio transmitter. 
4) Sputnik 1 was followed by another Sputnik carrying a dog. 


